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\ [
y=\frac{1}{x}
\]
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y=\frac{1}{x}
\]
A
\sum_{i=1}"{n}(2\times i-1) = n"2
\]
N /

O000\sumOOOOO\Ntimes 00 O0O0O00O0O0OO0OO0OO0OODOODOOOODDOOOODDOO



e N
00000 y=10000 ¥F,2xi-1)=2>00000000000

gboooboboobooboooobobooooono

o %
O00D00000ODONdisplaystyle DO0O0O0D0OOOO0OOOOO0OOOOOODOOOOOOOO
gboobgooboobooobobbobbobooboooobooboobod

[D O0O00D0D$\displaystyle\frac{1X{x}$ DO O DOOODOOO ]

gobobobooboooboobod

ooooooo lDDDDDD[IDD
T

3 oo

3.1 0ognd

0000000000000 1000000002 0000000000000000000
0000000000 0O00o0O00000O00U0OoOoO000OOO00 (ooooooOo)o
oooooo

O0000123000xyz0000000000000000$123$000%xyz$000000

ooooooog
o j

gbooobil23000xyz0OOOOOOOOOO0OO00O0O01230002y200000000
oooooo

J
3.2 0OUoon
gobooboobooboo@m-~obo_boobood
CDDDD$X"2$DDDDD”DDEIEIDDDDD$x_i$DDDDD_DDDDDDDD ]
[DDDD@"QDDDDD”DDDDDDDDDxiDDDDD_DDDDDDDD ]

0000000000 1000000000000000000000000000 (000 2yz000 )000
0000000000000 (0000 zxyx20 O0xO0OOOODO0OO )00O0OD0O0OODO0OODOO0OOOOOOOO



3.3 Uggn

gbogo-bbb_oooobobbobobobbobooooooboboboboooobon
oobooboooobooooboooo

[$x*10$DDDDmlomDDDDDDwaDDDDDD )

0000000000000000000%0000000040003Y0000000

$x~{10¥0000021°00000000000000000%\displaystyle x {x"{x"x}}$
000000z 000000000000%$x_i-1$0 $x {i-1}$ 000000000, —1
0Oz, 000000000000000O

ooo{d0ooyyooooooooooooooooooooooooooooooooooo

3.4 000U

gbooooobobobobobobobobobobooooobobbooobobobon
oboboobooboboooboobooooboooobobooooobooooon

$sin(\frac{\piH4}H)=\frac{\sqrt{2}}{2}$ OO OO Osin(]) = g 000ooooooo
oooooooo

0000000000 00N\sinO000000O$\sin{(\frac{\pi}{4})}=\frac{\sqrt{2}}{2}$
DDDDDsin(g):%DDDDDDDDDDDDDDDD

4 0O0O0O0OOogogd

000000000000000000 TXO0O0oooooooo4o

4.1 00000

gobooobooobogobooobooboobob
gboooao

\ L
\lim_{n\rightarrow\infty} \frac{i}{n} = 0
\]
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\lim_{n\rightarrow\infty} a_n = \alpha
\, \Leftrightarrow \,
\forall \epsilon > O \,
\exists N_O\, s.t.\,
[
\forall n \ge N_O \Rightarrow | a_n - \alpha | < \epsilon
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\frac{d 2f}{dx"2} = £’ (x) = £ {(2}(x)
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ggogn

gbooooo
oooo

SR N Y N O

\ [
\int{x}\, dx = x"2,\, \int_{0}"{1X\frac{1}{\sqrt{1-x~2}} = \frac{\pi}{4}
\]
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AL
\overrightarrow{al} =
\left(
\begin{array}{c}
1\
2 \\
3
\end{array}
\right)
s\,
A =
\left(
\begin{array}t{ccc}
1 & 2 & 3\\
4 & 5 & 6\\
7&8 &9
\end{array}
\right)
\]
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